Packet 16 Bonuses

1) Identify these famous works from a clue for 15 points. 5 points if you need the composer. 
1. (15) Also called Symphony No. 9 in E Minor, this symphony is thought to be based on Negro spirituals which the composer heard in the US.
(5) Antonín Dvorák
Answer: From the New World or New World Symphony
2. (15) Inspired by visits to his home country, this set of dances is based on the composer's exposure to the music of the Gypsies.
(5) Franz Listz
Answer: Hungarian Rhapsodies 

 

2) Given the first line, or part of the first line, of a literary work, identify it FTPE. 

1. "Well Prince, so Genoa and Lucca are now just family estates of the Bonapartes"

Answer:  War and Peace
2. "In the country of Westphalia, in the castle of the most noble Baron of Thunder-ten-tronckh, lived a youth whom Nature had endowed with a most sweet disposition."

Answer: Candide
3. "Buck did not read the newspapers or he would have known that trouble was brewing…" 

Answer: The Call of the Wild
3) Identify the following concerning mythological horses, FTPE:

1. When Perseus decapitated Medusa, the winged horse sprang forth from her body.

Answer: Pegasus

2. This Trojan priest threw a lance at the Trojan horse and warned the Trojans about it.  He and his sons were later killed by two huge sea serpents.

Answer: Laocoön

3. Hercules’ eighth labor was to tame the man-eating mares of this man, king of a Thracian tribe.

Answer: Diomedes

4) Given a subtitle, identify the work FTPE.

1. A Novel without a Hero





Answer: Vanity Fair
2. A True account of a multiple murder and its consequences 

Answer: In Cold Blood
3. Life among the Lowly
 




Answer: Uncle Tom's Cabin
5) Give the scientific names for these bones, for 10 points each.

 1. Large bone at the front of the shin





Answer: Tibia

 2. Inner bone of the lower arm (when viewed with palm facing forward)          

Answer: Ulna

 3. U-shaped bone that anchors the tongue, but doesn’t connect to any other bone

Answer: Hyoid

6) Identify these French kings, FTPE: 

1. Known as the “Renaissance King,” he was passed over for Holy Roman Emperor in favor of Charles V. 

Answer: Francis I

2. The first Bourbon king, he was raised Protestant but became Catholic so that he could take the Throne; he later issued the Edict of Nantes, a proclamation of religious tolerance.

Answer: Henry IV

3. Known as the “Sun King,” he revoked the Edict of Nantes in an attempt to eliminate opposition to the French throne. 

Answer: Louis XIV

7) For fifteen points each, identify the following Supreme Court plaintiffs whose cases dealt with affirmative action.

1. In a 1978 case, he sued the University of California. The court ruled that quotas cannot be set if white applicants are denied a chance to compete for those spots.

Answer: Alan Bakke
2. In a case similar to Bakke, the plaintiff sued the University of Texas. The case was called Bakke II by the press and like Bakke, the court ruled in favor of the plaintiff. 

Answer: Cheryl Hopwood
8) Answer the following questions about the recent Camp David accords FTPE.

1. The name of the current Israeli Prime Minister.

Answer: Ehud Barak
2. All or nothing, name the two land areas that the Palestinians want the Israelis to relinquish.

Answer: West Bank and Gaza Strip

3. The name of the border dividing east and west Jerusalem, the city that is at the center of the conflict.

Answer: Green Line

9) Answer the following about thermodynamics FTPE. 

1. Defined as the Boltzman constant times the natural log of the number of possible microscopic states, this physical concept is the quantitative measure of disorder of a system. 

Answer: Entropy

2. Entropy arose as a necessary variable of this law of thermodynamics, which may be stated: 

A system may only go in one direction and that the opposite process, in which both the system and its surroundings would be returned to their original states, is impossible. 

Answer: Second Law of Thermodynamics

3. The Kelvin-Planck statement of the second law states that efficiency may be expressed as (QH-QL)/QH. Determine the efficiency of a system with QH= 500 Kelvin and QL = 320 Kelvin. For the calculation take the Boltzman Constant to be 1.38*10-23. You have 10 seconds. 

Answer: 36% or 0.36

10) Identify these members of the Greater Sunda Islands, which comprise the largest islands of Indonesia: 

1. Formerly known as Indonesian Sulawesi, this curiously shaped 4th largest Indonesian island contains four distinct peninsulas that form three major gulfs – the Tomini, Tolo, and Bone. 

Answer: Celebes

2. It contains more than half of the nation's population, and also dominates its economy.  It is also home to Jakarta, Indonesia's capital and largest city.

Answer: Java

3. The largest island in Asia, it is situated southeast of the Malay Peninsula and is bounded by the South China, Sulu, Celebes, and Java Seas. 

Answer: Borneo

